CAN-BUS Data Frames

To watch CAN frames can be frustrative if you connect an oscilloscope with the red pin (14) and

ground (GND). You get probably this - Image 2:
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... but that's not what you expected; you expected probably this - /mage 3:
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To get the result of /mage 3, you have to connect the red and yellow pins (14 and 15) of /mage 7 with a resistor 02 <R<100k{. The value can be

in a wide range.
Now you can connect the oscilloscope with the red pin (14) and you will get what you want - /mage 4 .
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Image 4 - CAN1 with a 39kQ2 resistor
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Image 5:  Who Is Where ?  You can work with R96=R97=R98=R99=0Q (Zero Ohm) CAN1 CANZ2



A test program for /Image 3:

#include <WProgram.h>

#include "chipKITCAN.h"

#define SYS_FREQ(80000000L)

#define CAN_BUS_SPEED 100000 // CAN Speed
CAN canMod1(CAN::CAN1); // this object uses CAN module 1
uint8_t CAN1MessageFifoAreal2 * 8 * 16];

void initCan1();

void ixCAN1();

void setup() { initCani(); }
void loop() { IXCANT(); }

void initCan1() {
CAN::BIT_CONFIG canBitConfig;
canMod1.enableModule(TRUE);
canMod1.setOperatingMode(CAN::CONFIGURATION),
while(canMod 1.getOperatingMode() /= CAN::CONFIGURATION),

canBitConfig.phaseSeg2Tq = CAN:BIT_2TQ;
canBitConfig.phaseSeg1Tq = CAN::BIT_2TQ;

canBitConfig.propagationSegTq = CAN::BIT_2TQ;

Download the software for the chipKIT Network Shield and put
chipKITCAN into: C:\IDE_Max32\hardware\pic32\libraries.
Then it looks like:

Computer ¥ WD1TB (C:) v IDE_Max32 v hardware ¥ pic32 « libraries v chipKITCAN »

| documents

| examples
chipKITCAN .cpp
chipKITCAN.h
keywords.bxt



canBitConfig.phaseSeg2TimeSelect = FALSE;

canBitConfig.sample3Time = FALSE;
canBitConfig.syncJumpWidth = CAN:BIT_1TQ; /1 to 4 Time_Quanta

canMod1.setSpeed(&canBitConfig,SYS_FREQ,CAN_BUS_SPEED),
canMod1.assignMemoryBuffer(CAN1MessageFifoArea,2 * 8 * 16);
canMod'1.configureChannelForTx(CAN.::CHANNELO,8,CAN:: TX_RTR_DISABLED,CAN::HIGHEST_PRIORITY),
canMod1.setOperatingMode(CAN.::NORMAL_OPERATION);

while(canMod1.getOperatingMode() I= CAN::NORMAL_OPERATION);

void xCAN1() {

CAN::TxMessageBuffer * message,

message = canMod1.getTxMessageBuffer(CAN::CHANNELO),

if (message /= NULL) {
message->msgEID.EID = 1234,  //receiving node
message->msgEID.IDE = 1;
message->msgEID.SRR = 1;
message->msgEID.RTR = 0;
message->msgEID.DLC = 8;
message->dalaf0] =0x11;
message->dalaf1] = 0x31;
message->dalaf2] = 0x52;
message->dalaf3] = O0x73;



message->dalaf4] = 0x94,
message->dalaf5] = 0xB5;
message->dalaf6] = 0xDé6;
message->dalaf7] = OxF7;
canMod'1.updateChannel(CAN.:CHANNELO);
canMod'1.flushTxChannel(CAN::CHANNELO),

Loopback Mode

Loopback mode is used for self-test to allow the CAN module to receive its own message. In this mode, the CAN module transmit path is connected

internally to the receive path. A “dummy” Acknowledge is provided thereby eliminating the need for another node to provide the Acknowledge bit.

The CAN message is not actually transmitted on the CAN bus, and Jou can see nothing buta siraightine at the red pin(14) or green pin(22) with

_ - see image 5 for the location of the green pin(22). The following program demonstrates a self-test.

#include <WRProgram.h>

#include "chipKITCAN.h"

#define CAN_1_ID 0x123 //CAN module transmit path is connected infernally fo the receive path
#define CAN_2_ID 0x123 //--> CAN_1_ID == CAN_2_ID in this program



#define SYS_FREQ(80000000L)
#define CAN_BUS_SPEED 250000 // CAN Speed

CAN canMod1(CAN::CAN1); // this object uses CAN module 1
CAN canMod2(CAN::CANZ2); // this object uses CAN module 2

uint8_t CAN1MessageFifoAreal2 * 8 * 16];
uint8_t CANZ2MessageFifoAreal2 * 8 * 16];

static volatile bool isCAN1MsgReceived = false;
slatic volatile bool isCAN2MsgReceived = false;

void initCan 1(uint32_t myadar),
void initCan2(uint32_t myadar);
void txCAN1(uint32_t rxnode);
void txCANZ2(uint32_t rxnode);
void rxCAN1(void);

void rxCANZ2(void);

void doCan 1interruplt();

void doCanZinterrupt();

void setup() {
initCan1(CAN_1_ID);



initCan2(CAN_2_ID),
canMod1.afttachinterrupt(doCan 1Interrupt),
canModZ.afttachinterrupt(doCanZinterrupt),
Serial.begin(9600);

void loop() {
IXCANZ(CAN_1_ID);
delay(100); //wait so that the character has time to be delivered
xCAN1(),
IXCANT(CAN_2_ID);
delay(100);
xCAN2(),

void initCan1(uint32_t myadar) {
CAN::BIT_CONFIG canBitConfig,
canMod1.enableModule(TRUE);
canMod1.setOperatingMode(CAN::CONFIGURATION),
while(canMod 1.getOperatingMode() /= CAN::CONFIGURATION),

canBitConfig.phaseSeg2Tq = CAN:BIT_3TQ;
canBitConfig.phaseSeg1Tq = CAN::BIT_3TQ;

canBitConfig.propagationSegTq = CAN::BIT_3TQ;



canBitConfig.phaseSeg2TimeSelect = TRUE;

canBitConfig.sample3Time = TRUE;
canBitConfig.syncJumpWidth = CAN:BIT_2TQ;

canMod1.setSpeed(&canBitConfig,SYS_FREQ,CAN_BUS_SPEED),
canMod1.assignMemoryBuffer(CAN1MessageFifoArea,2 * 8 * 16),
canMod1.configureChannelForTx(CAN::CHANNELO0,8,CAN::TX_RTR_DISABLED,CAN::LOW_MEDIUM_PRIORITY),
canMod1.configureChannelForRx(CAN.:CHANNEL 1,8, CAN::RX_FULL_RECEIVE),

canMod1.configureFilter  (CAN::FILTERO, myaddr, CAN::SID),

canMod1.configureFilterMask (CAN:.FILTER_MASKO, OxFFF, CAN::SID, CAN::FILTER_MASK_IDE_TYPE),
canMod1.linkFilterToChannel (CAN::FILTERO, CAN::FILTER MASKO, CAN::CHANNEL1);
canMod1.enableFilter (CAN:FILTERO, TRUE),

canMod1.enableChannelEvent(CAN::CHANNEL 1, CAN::RX_CHANNEL_NOT_EMPTY, TRUE);
canMod1.enableModuleEvent(CAN::RX_EVENT, TRUE),

canMod1.setOperatingMode(CAN::LOOPBACK),

while(canMod1.getOperatingMode() != CAN::LOOPBACK),

void initCan2(uint32_t myaddr) {
CAN::BIT_CONFIG canBitConfig,
canModZ.enableModule(TRUE),
canModZ.setOperatingMode(CAN::CONFIGURATION),
while(canModZ2.getOperatingMode() /= CAN::CONFIGURATION);
canBitConfig.phaseSeg2Tq = CAN::BIT_3TQ;



canBitConfig.phaseSeg1Tq = CAN::BIT_3TQ;
canBitConfig.propagationSegTq = CAN::BIT_3TQ;
canBitConfig.phaseSeg2TimeSelect = TRUE;

canBitConfig.sample3Time = TRUE;
canBitConfig.syncJumpWidth = CAN::BIT_2TQ;

canMod?2.setSpeed(&canBitConfig,SYS_FREQ,CAN_BUS_SPEED);
canMod?Z.assignMemoryBuffer(CANZMessageFifoArea,2 * 8 * 16);
canMod?Z.configureChannelForTx(CAN::CHANNELO,8,CAN::TX_RTR_DISABLED,CAN::LOW_MEDIUM_PRIORITY),
canModZ.configureChannelForRx(CAN..CHANNEL 1,8, CAN::RX_FULL_RECEIVE),

canModZ.configureFilter  (CAN::FILTERO, myaddr, CAN::SID),

canMod?Z.configureFilterMask (CAN:.FILTER_MASKO, OxFFF, CAN::SID, CAN::FILTER_MASK_IDE_TYPE),
canMod?Z.linkFilterToChannel (CAN:.FILTERO, CAN::FILTER MASKO, CAN.:CHANNEL1);
canModZ2.enableFilter (CAN::FILTERO, TRUE),

canModZ.enableChannelEvent(CAN..CHANNEL 1, CAN::RX_CHANNEL_NOT_EMPTY, TRUE),
canModZ.enableModuleEvent(CAN::RX_EVENT, TRUE),

canModZ2.setOperatingMode(CAN::LOOPBACK),

while(canModZ.getOperatingMode() != CAN::L OOPBACK);

void ixCAN1(uint32_t rxnode) {
CAN:: TxMessageBuffer * message,
message = canMod1.getTxMessageBuffer(CAN::CHANNELO),
if (message /= NULL) {



message->messageWord(0] = 0,
message->messageWord[1] = 0,
message->messageWord[2] = 0,
message->messageWord[3] = 0,
message->msgSID.SID = rxnode,; //receiving node
message->msgEID.IDE = 0;
message->msgEID.RTR = 0;
message->msgEID.SRR = 0;
message->msgEID.DLC = 1;
message->dalaf0] = 12;
//message->dalaf1] =0x31;
//message->dalal2] =0x32;
//message->dalal3] = 0x33;
//message->dalal4] =0x34;

//message->dalaf5] = 0x35;
//message->dataf6] = 0x36;
//message->dalal7] =0x37;

canMod'1.updateChannel(CAN.::CHANNELO);
canMod1.flushTxChannel(CAN.:.CHANNELO0),

void IxCANZ2(uint32_t rxnode) {



CAN::TxMessageBuffer * message,

message = canModZ2.getTxMessageBuffer(CAN::CHANNELO);

if (message /= NULL) {
message->messageWord(0] = 0,
message->messageWord[1] = 0,
message->messageWord[2] = 0,
message->messageWord[3] = 0,
message->msgSID.SID = rxnode; //receiving node
message->msgEID.IDE = 0;
message->msgEID.RTR =0
message->msgEID.SRR =0,
message->msgEID.DLC = 1;
message->dalaf0] = 34,
//message->dataf1] =0x31;
//message->datal2] =0x32;
//message->data3] =0x33;
//message->dalal4] = 0x34,
//message->dalaf5] = 0x35;
//message->dataf6] = 0x36;
//message->dalal7] =0x37;
canModZ.updateChannel(CAN.::CHANNELO),
canModZ2. flushTxChannel(CAN::CHANNELO);



void rxCAN1(void) {
CAN::RxMessageBuffer * message,
if (isCAN1MsgReceived == false) {

return;

/
IsCAN1MsgReceived = false;
message = canMod1.geftRxMessage(CAN.:CHANNEL 1),

Serial.prinfin("CAN1: The CAN_1_2 message is not actually transmitted on the CAN bus"),
canMod1.updateChannel(CAN.:CHANNEL 1);

canMod1.enableChannelEvent(CAN::CHANNEL 1, CAN::RX_CHANNEL_NOT_EMPTY, TRUE);

void rxCANZ2(void) {

CAN::RxMessageBuffer * message,
Iif (isCAN2MsgReceived == false) {

return;

/
IsCANZ2MsgReceived = false;

message = canModZ2.geftRxMessage(CAN.::CHANNEL 1),

Serial.printin("CAN2: no CAN-Frame for an oscilloscope at pin(14) and pin(22)");
canModZ2.updateChannel(CAN.:CHANNEL 1);



canMod2.enableChannelEvent(CAN::CHANNEL 1, CAN::RX_CHANNEL_NOT_EMPTY, TRUE);
/

void doCan 1interrupt() {
Iif ((canMod1.getModuleEvent() & CAN::RX_EVENT) /= 0) {
iffcanMod1.getPendingEventCode() == CAN::CHANNEL 1_EVENT) {
canMod1.enableChannelEvent(CAN::CHANNEL 1, CAN::RX_CHANNEL_NOT_EMPTY, FALSE);
IsCAN1MsgReceived = true;

/
/
/

void doCanZinterrupt() {
Iif ((canModZ2.getModuleEvent() & CAN.:.RX_EVENT) I=0) {
iffcanModZ2.getPendingEventCode() == CAN..CHANNEL 1_EVENT) {
canModZ.enableChannelEvent(CAN.:.CHANNEL 1, CAN::RX_CHANNEL_NOT_EMPTY, FALSE),
IsCAN2MsgReceived = true;

/
/
/



Let's communicate CAN1 with CAN2 ...

W will need a little setup for that, conposed of two diods and a restistor. | use 39.2kQ,but 5kQ to 50kQ are working as
wel | .
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#i ncl ude <WProgram h>
#i ncl ude "chi pKI TCAN. h"

#def i ne nodelcanl 0x101L
#def i ne nodelcan?2 0x102L

#define SYS_FREQ (80000000L)
#defi ne CAN BUS SPEED 250000 /1 CAN Speed

int data[8];

CAN canMbd1l( CAN: : CAN1) ; /1 this object uses CAN nodule 1
CAN canMbd2( CAN: : CAN2) ; /1 this object uses CAN nodul e 2

uint8 t CANlMessageFifoArea[2 * 8 * 16];
*

uint8_t CAN2MessageFifoArea[2 * 8 16];
static volatile bool isCANLMsgRecei ved = fal se;
static volatile bool isCAN2MsgRecei ved = fal se;

void initCanl(uint32_t nyaddr);
void initCan2(uint32_t nyaddr);
voi d t xCANL(ui nt32_t rxnode);
void t xCAN2(ui nt32_t rxnode);
voi d rxCANL(void);

voi d rxCAN2(voi d);

voi d doCanllnterrupt();

voi d doCan2l nterrupt();

void setup() {
i nitCanl(nodelcanl);
i ni t Can2(nodelcan?);
canMbdl. attachl nterrupt (doCanll nterrupt);
canMbd2. attachl nt errupt (doCan2l nt errupt);
Seri al . begi n(9600) ;

}

void loop() {
t X CAN2( nodelcanl);
del ay(100); //wait so that the character has tinme to be delivered
r XxCANL() ;
t XCANL( nodelcan2);
del ay(100);
rxCAN2() ;



void initCanl(uint32_t nyaddr) {
CAN: : BI T_CONFI G canBi t Confi g;
canMbdl. enabl eModul e( TRUE) ;

canMbdl. set Qper ati nghMode( CAN: : CONFI GURATI ON) ;

whi | e( canMbdl. get Oper at i ngivbde()

canBi t Confi g. phaseSeg2Tq
canBi t Confi g. phaseSeglTq

canBi t Confi g. propagati onSegTq
canBi t Confi g. phaseSeg2Ti neSel ect
canBi t Confi g. sanpl e3Ti ne

canBi t Confi g. syncJunpWdt h

set Speed( &canBi t Confi g, SYS FREQ, CAN BUS SPEED) ;
assi gnMenor yBuf f er (CANLMessageFi foArea,2 * 8 * 16);

= CAN: : CONFI GURATI ON) ;

CAN. : BI T_3TQ
CAN: : BI T_3TQ
CAN. : BI T_3TQ
TRUE;
TRUE;
CAN: : BI T_2TQ

CHANNELO, 8, CAN: : TX_RTR DI SABLED, CAN: : LOW MEDI UM PRI ORI TY) ;
CHANNEL1, 8, CAN: : RX_FULL_RECEI VE); //RX_DATA ONLY

FI LTERO, nyaddr, CAN :SID);

FI LTER_MASKO, OxFFF, CAN::SID, CAN::FlLTER MASK | DE_TYPE);
FI LTERO, CAN::FlILTER MASKO, CAN: : CHANNEL1);
FI LTERO, TRUE);

enabl eChannel Event ( CAN: : CHANNEL1, CAN: : RX_CHANNEL_NOT_EMPTY, TRUE);

canhModl.

canhModl.

canMbdl. confi gur eChannel For Tx( CAN: :
canMbdl. confi gur eChannel For Rx( CAN: :
canMbdl. configureFilter (CAN: :
canMbdl. configureFilterMask (CAN::
canMbdl. | i nkFi |l ter ToChannel (CAN: :
canMbdl. enabl eFil ter (CAN: :
canhModl.

canMbdl. enabl eMbdul eEvent ( CAN: : RX_EVENT, TRUE);
canhModl.

set Oper at i ngMbde( CAN: : NORVAL_OPERATI ON) ;

whi | e( canMbdl. get Oper at i ngivbde()

}

void initCan2(uint32_t nyaddr) {
CAN: : BI T_CONFI G canBi t Confi g;

canhMbd?2.

enabl eModul e( TRUE) ;

I'= CAN: : NORVAL_CPERATI ON) ;

canMbd2. set Qper ati nghMode( CAN: : CONFI GURATI ON) ;
whi | e( canMbd2. get Oper at i ngivbde()
canBi t Confi g. phaseSeg2Tq

canBi t Confi g. phaseSeglTq

canBi t Confi g. propagati onSegTq
canBi t Confi g. phaseSeg2Ti neSel ect
canBi t Confi g. sanpl e3Ti ne

canBi t Confi g. syncJunpW dt h

set Speed( &canBi t Confi g, SYS_FREQ, CAN_BUS_SPEED) ;
assi gnMenor yBuf f er (CAN2MessageFi foArea,2 * 8 * 16);

= CAN: : CONFI GURATI ON) ;

CAN. : BIT_3TQ
CAN: : BI T_3TQ
CAN. : BIT_3TQ
TRUE;
TRUE;
CAN: : BI T_2TQ

CHANNELO, 8, CAN: : TX_RTR DI SABLED, CAN: : LOW MEDI UM PRI ORI TY) ;
CHANNEL1, 8, CAN: : RX_FULL_RECEI VE) ;

FI LTERO, nyaddr, CAN :SID);

FI LTER_MASKO, OxFFF, CAN::SID, CAN::FlLTER MASK | DE_TYPE);
FI LTERO, CAN::FlILTER MASKO, CAN: : CHANNEL1);
FI LTERO, TRUE);

enabl eChannel Event ( CAN: : CHANNEL1, CAN: : RX_CHANNEL_NOT_EMPTY, TRUE);

canhMod?2.

canhMod2.

canMbd2. confi gur eChannel For Tx( CAN: :
canMbd2. confi gur eChannel For Rx( CAN: :
canMbd2. configureFilter (CAN: :
canMbd2. configureFilterMask (CAN::
canMbd2. | i nkFi | ter ToChannel (CAN: :
canMbd2. enabl eFil ter (CAN: :
canhMod?2.

canMbd2. enabl eMbdul eEvent ( CAN: : RX_EVENT, TRUE);
canhMod2.

set Oper at i ngMbde( CAN: : NORVAL_OPERATI ON) ;

whi | e( canMbd2. get Oper at i ngivbde()

I'= CAN: : NORVAL_CPERATI ON) ;



}

void txCANL(ui nt32_t rxnode) {
CAN: : TxMessageBuf f er *nmessage;
message = canMbdl. get TxMessageBuf f er ( CAN: : CHANNELO) ;
if (nmessage != NULL) {

nmessage- >nessageWrd[ 0] = O;
nmessage- >nessageWrd[ 1] = 0;
nmessage- >nessageWrd[ 2] = O;
nmessage- >nessageWrd[ 3] = O;
nmessage- >nsgSl D. SI D = rxnode; //receiving node
nmessage- >nsgEl D. RTR = 0;
nmessage- >nsgEl D. SRR = 1;
nmessage- >nsgEl D. | DE = 0;
nmessage- >nsgEl D. DLC = §;
nmessage- >dat a[ 0] = 20;
nmessage- >dat a[ 1] = 21;
nmessage- >dat a[ 2] = 22;
message- >dat a[ 3] = 23;
nmessage- >dat a[ 4] = 24;
nmessage- >dat a[ 5] = 25;
nmessage- >dat a[ 6] = 26;
nmessage- >dat a[ 7] = 27;

canMbdl. updat eChannel ( CAN: : CHANNELO) ;
canModl. f I ushTxChannel ( CAN: : CHANNELO) ;
}
}

void t xCAN2(ui nt 32_t rxnode) {
CAN: : TxMessageBuf f er *nmessage;
message = canMbd2. get TxMessageBuf f er ( CAN: : CHANNELO) ;
if (message !'= NULL) {

nmessage- >nessageWrd[ 0] = O;
nmessage- >nessageWrd[ 1] = O;
nmessage- >nessageWrd[ 2] = O;
nmessage- >nessageWrd[ 3] = O;
nmessage- >nsgSl D. SI D = rxnode; //receiving node
nmessage- >nsgEl D. RTR = 0;
nmessage- >nsgEl D. SRR = 1,
nmessage- >nsgEl D. | DE = 0;
nmessage- >nsgEl D. DLC = §;
message- >dat a[ 0] = 40;
nmessage- >dat a[ 1] = 41;
nmessage- >dat a[ 2] = 42;
nmessage- >dat a[ 3] = 43;
nmessage- >dat a[ 4] = 44;
nmessage- >dat a[ 5] = 45;
nmessage- >dat a[ 6] = 46;



nessage- >dat a[ 7] = 47;
canMbd2. updat eChannel ( CAN: : CHANNELDO) ;
canMd2. f I ushTxChannel ( CAN: : CHANNELO) ;

}
}

e@ sketch_novl5a | Mpide 0022~
voi d rxCAN1(void) {

int k; File Edit Sketch Tools Help
CAN: : RxMessageBuf f er *nmessage; g
if (i sSCANLMsgRecei ved == fal se) { i serial Monitor

return;
}

i SCANLMsgRecei ved = fal se;
message = canMbdl. get RxMessage( CAN: : CHANNEL1) ;
for(k=0; k<8; k++)
dat a[ k] = nessage->dat a[ k] ;
rontalld o messe For output press
Serial .print(data[k]);
Serial.print(", ");

}

Serial.println(data[7]);

canMbdl. updat eChannel ( CAN: : CHANNEL1) ;

canMbdl. enabl eChannel Event ( CAN: : CHANNEL1, CAN: : RX_CHANNEL NOT_EMPTY, TRUE);

}

voi d rxCAN2(void) {
int k;
CAN: : RxMessageBuf f er *nmessage;
if (isCAN2MsgRecei ved == fal se) {
return;
}

i SCAN2MsgRecei ved = fal se;
message = canMbd2. get RxMessage( CAN: : CHANNEL1) ;
for (k=0; k<8; k++)
dat a[ k] = nmessage->dat a[ k] ;
for(k=0; k<7; k++) {
Serial .print(data[k]);
Serial.print(", ");
}
Serial.println(data[7]);
canMbd2. updat eChannel ( CAN: : CHANNEL1) ;
canMbd2. enabl eChannel Event ( CAN: : CHANNEL1, CAN. : RX CHANNEL NOT_EMPTY, TRUE);

}

voi d doCanllinterrupt() {
if ((canhbdl. get Modul eEvent () & CAN:: RX_EVENT) != 0) {
i f (canMbdl. get Pendi ngEvent Code() == CAN. : CHANNEL1 EVENT) {
canMbdl. enabl eChannel Event ( CAN: : CHANNEL1, CAN: : RX_CHANNEL_ NOT_EMPTY, FALSE);



i sSCANLMsgRecei ved = true;

}
}
}

voi d doCan2l nterrupt () {
if ((canMbd2. get Modul eEvent () & CAN:: RX_EVENT) != 0) {
i f (canMbd2. get Pendi ngEvent Code() == CAN. : CHANNEL1 EVENT) {
canMbd2. enabl eChannel Event ( CAN: : CHANNEL1, CAN:: RX_CHANNEL NOT_EMPTY, FALSE);
i sSCAN2MsgRecei ved = true;

}
}
}

/*
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CAN_communicate with the outside world ...

To communi cate with the outside world of the MAX 32 board we need a CAN transceiver, as shown in Image 5.
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Qur partner is VAG AUD / VW Gat eway: 1KO 907 530K

The gateway is calling for other devices: instrument cluster, radio, navi ..., but nothing of themis connected to the

gateway on ny desktop.



&%) GOoD 1K0 907 530K

HW:1K0 907 951
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Pin 1 /7 8

, 1{?/ 227447

13 14 15 16 17 18 19 20

pin1,pin2: +12V (car-battery); both inside wired
pin11,pin12: GND (car-ground) ; both inside wired
pin14: on/off; Gateway on(+12V) and

Gateway off(GND or not connected)

We use;
{ pin8, CAN_L, 500kbps

18 pin18, CAN_H
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Simple monitor:

#include
#include

<WProgram.h>
"chipKITCAN.h"

#define SYS_FREQ (80000000L)
#define CAN_BUS_SPEED 500000 // CAN Speed

int data[8];

CAN canMod1(CAN: : CAN1); // this object uses CAN module 1
uint8 t CANlMessageFifoArea[2 * 8 * 16];

uintlé_t id_@; //or uint32_t

static volatile bool isCAN1MsgReceived = false;

void initCani();
void rxCAN1(void);
void doCanlInterrupt();

void setup() {
initCani();

canMod1

.attachInterrupt(doCanlInterrupt);

Serial.begin(9600);

}

void loop() {
rxCAN1();

}

void initCanl() {
CAN::BIT_CONFIG canBitConfig;

canModl.enableModule(TRUE);

canMod1.setOperatingMode (CAN: : CONFIGURATION);

while(canModl.getOperatingMode() != CAN::CONFIGURATION);

canBitConfig.phaseSeg2Tq = CAN::BIT_3TQ;

canBitConfig.phaseSeglTq = CAN::BIT_3TQ;

canBitConfig.propagationSegTq = CAN::BIT_3TQ;
canBitConfig.phaseSeg2TimeSelect = TRUE;

canBitConfig.sample3Time = TRUE;

canBitConfig.syncJumpWidth = CAN::BIT_2TQ;
canModl.setSpeed(&canBitConfig,SYS_FREQ, CAN_BUS_SPEED);

canModl.assignMemoryBuffer (CAN1MessageFifoArea,2 * 8 * 16);

canMod1l. configureChannelForRx(CAN: :CHANNEL1,8,CAN: :RX_FULL_RECEIVE); //RX_DATA ONLY
canModl.configureFilterMask (CAN::FILTER_MASK®@, ©x0, CAN::SID, CAN::FILTER_MASK_ANY_TYPE);//CAN_FILTER_MASK_IDE_TYPE
canModl.linkFilterToChannel (CAN::FILTERO, CAN::FILTER_MASK®, CAN::CHANNEL1);



canModl.enableFilter (CAN::FILTERO, TRUE);
canModl.enableChannelEvent (CAN: :CHANNEL1, CAN::RX_CHANNEL_NOT_EMPTY, TRUE);
canModl.enableModuleEvent (CAN: :RX_EVENT, TRUE);
canModl.setOperatingMode (CAN: :NORMAL_OPERATION);
while(canModl.getOperatingMode() != CAN::NORMAL_OPERATION);

}

void rxCAN1(void) {
int k;
CAN: :RxMessageBuffer *message;
if (isCAN1MsgReceived == false) {
return;
}
isCAN1MsgReceived = false;
message = canModl.getRxMessage(CAN: :CHANNEL1);
id @ = message->msgSID.SID;
Serial.print(id_o0, HEX);
Serial.print(", ");
for(k=0;k<8;k++)
data[k] = message->data[k];
for(k=0;k<7;k++){
Serial.print(data[k], HEX);
Serial.print(", ");
}
Serial.println(data[7], HEX);
canMod1l.updateChannel (CAN: : CHANNEL1);
canModl.enableChannelEvent (CAN: :CHANNEL1, CAN::RX_CHANNEL_NOT_EMPTY, TRUE);

}

void doCanlInterrupt() {
if ((canModl.getModuleEvent() & CAN::RX_EVENT) != 0) {
if(canModl.getPendingEventCode() == CAN::CHANNEL1_EVENT) {
canModl.enableChannelEvent(CAN: : CHANNEL1, CAN::RX_CHANNEL_NOT_EMPTY, FALSE);
isCAN1MsgReceived = true;
}
}
}

/*
657, ©, ©, 80, 0, 8, 0, 0, ©
35F, 3F, 9, ©, 0, 40, 4, 0, O

5D@, CO, 3, O, 8F, 32, 50, 1, ©



657,
35F,
557,
657,
35F,
5D,
657,
35F,
5D,
657,
35F,
5D,
657,
35F,
5D,
657,
35F,
557,
657,
35F,
5D,
657,

*/

9, 0, 80,

3F, 0, 0,

0, 8, 0, 0, ©

0, 40, 4JENG

0, 0, 0, 0, 8, 0, 0, @

0, 0, 80,
3F, o, o,
co, 3, o,
9, 0, 80,
3F, o, o,
co, 3, o,
9, 0, 80,
3F, o, O,
co, 3, o,
9, 0, 80,
3F, o, o,
co, 3, o,
9, 0, 80,

3F, o, O,

0, 8, 0, 0, ©

0, 40, 4, 0, © o e
8F, 32, 50, 1, ©
0,8, 0,0, 0 Data: ID= 35F, DLC= &, Data= 3F 00 00 00 40 04, CRC= 6729, ACK= Yes

0, 40, 4, 0, ©
8F, 32, 50, 1, ©
0, 8, 0, 0, 0

0, 40, 4, 0, 0O

8F, 32, 50, 1, ©
9, 8, 0, 0, 0
0, 40, 4, 0, © ] . .

8F, 32, 50, 1, ©

Data’ ID= 500, DLC= 8, Data= C0 03 00 8F 32 50 01 00, CRC= 274C, ACK= Yes
0, 8, 0, 0, 0

0, 40, 4, 0, ©

9, 0, 9, 0, 8, 9, 0, 0

0, 0, 80,
3F, 0, O,
co, 3, 0,

0, 0, 80,

9, 8, 0, 0, ©
@, 40, 4, 0, O
8F, 32, 50, 1, @
9, 8, 0, 0, ©

.. have fun! edgarmarx@t-online.de



